


youtube video assembly guide 
“SYSRACKS WALL MOUNT”

1 5

4 8

2 6

3 7
Use the plastic bushings (or, adjustable washers 
if needed) when mounting the front door.

Install the front door locking mechanism.

Install the levelling feet 
(or, casters depending on configuration)

Install the side panel locking mechanism. 

Install the brush type cable entries using M6 bolts/nuts. 
2 bolts/nuts for each cable entry.
Plastic bag #3 (4 SET). 

Using the plastic bag #2 (17 SET), 
install the vertical mounting rails. 
The distance between the rails is 
to be determined based on the 
depth of the equipment or, 
the supplied shelves. 

Use the M6 bolts/nuts to install Use the M6 bolts/nuts to install 
the shelves on the desired height

Install the rear panel using 4 X M5 self-tapping screws.
Plastic bag #5 (8 psc).

Join the frames with the Top/Bottom 
Covers into a single construction 
Plastic bag #1 (17 psc).

  


